# SEMILATTICE CONGRUENCE AND FUZZY SEMILATTICE CONGRUENCE ON PO-Γ-SEMIGROUP VIA ITS OPERATOR SEMIGROUPS

### Sujit Kumar Sardar, Pavel Pal<sup>\*</sup> and Rajlaxmi Mukherjee

Department of Mathematics Jadavpur University, Kolkata, INDIA e-mail: sksardarjumath@gmail.com ju.pavel86@gmail.com ju.rajlaxmi@gmail.com

#### Abstract

In this paper, semilattice congruence and fuzzy semilattice congruence on po- $\Gamma$ -semigroup are studied via operator semigroups. Among other results we obtain a lattice isomorphism between fuzzy semilattice congruences of a  $\Gamma$ -semigroup and that of its left operator semigroup. Using this result we have shown that any sublattice of the lattice of all fuzzy semilattice congruences of a po- $\Gamma$ -semigroup is modular.

# 1 Introduction

A semigroup is an algebraic structure consisting of a non-empty set S together with an associative binary operation. The formal study of semigroups began in the early 20th century. Semigroups are important in many areas of mathematics, e.g., coding and language theory, automata theory, combinatorics and mathematical analysis. In 1981, Sen and Saha [19] defined the notion of a

<sup>\*</sup>Author is grateful to University Grant Commission, Govt. of India, for providing research support as JRF.

Key words: po- $\Gamma$ -semigroup, operator semigroup, semilattice congruence, fuzzy semilattice congruence.

<sup>2000</sup> AMS Classification: 08A72, 06B10.

 $\Gamma$ -semigroup as a generalization of a semigroup. Many classical notions of semigroups have been extended to  $\Gamma$ -semigroups.

After the introduction of fuzzy sets by Zadeh[24], reconsideration of some concepts of classical mathematics began. Many properties of semigroups have been studied in terms of fuzzy subsets. Among other references we refer the readers to Kuroki's monograph[10]. Since  $\Gamma$ -semigroup generalizes semigroup, it is natural to investigate  $\Gamma$ -semigroups in terms of fuzzy subsets. In this direction we may refer to [14, 15, 16, 17]. Fuzzy relations were defined by Zadeh[25]. Since then, fuzzy equivalence relations and fuzzy congruence relations were studied. Like congruence, fuzzy congruence plays an important role in the theory of semigroups. Readers may refer to [1, 2, 7, 8, 9, 11, 12, 13]. In this paper, as continuation of our study of po- $\Gamma$ -semigroups[18], we introduce the notion of semilattice congruence and fuzzy semilattice congruence and study them using operator semigroups. For basic notions of po- $\Gamma$ -semigroups and fuzzy concepts in po- $\Gamma$ -semigroups we refer respectively to [21],[18]. For basic notions of semilattice congruence in semigroups and  $\Gamma$ -semigroups we refer respectively to [6],[23].

# 2 Preliminaries

**Definition 2.1.** [20] Let  $S = \{x, y, z, ....\}$  and  $\Gamma = \{\alpha, \beta, \gamma....\}$  be two nonempty sets. Then S is called a  $\Gamma$ -semigroup if there exists a mapping  $S \times \Gamma \times S \rightarrow$  $S(\text{images to be denoted by } a\alpha b)$  satisfying (1)  $x\gamma y \in S$ , (2)  $(x\beta y)\gamma z = x\beta(y\gamma z)$ for all  $x, y, z \in S, \alpha, \beta, \gamma \in \Gamma$ .

**Remark** 1. Definition 2.1 is the definition of one sided  $\Gamma$ -semigroup. It may be noted here that in 1981 *Sen*[19] introduced the notion of both sided  $\Gamma$ -semigroups.

Note 1. Any semigroup can be considered to be a  $\Gamma$ -semigroup.

**Example** 1. Let S be the set of all  $2 \times 3$  matrices over the set of positive integers and  $\Gamma$  be the set of all  $3 \times 2$  matrices over same set. Then S is a both-sided  $\Gamma$ -semigroup with respect to the usual matrix multiplication.

The following example shows that there exists a one sided  $\Gamma$ -semigroup which is not a both sided  $\Gamma$ -semigroup.

**Example** 2. Let *S* be a set of all negative rational numbers. Obviously *S* is not a semigroup under usual product of rational numbers. Let  $\Gamma = \{-\frac{1}{p}: p \text{ is prime }\}$ . Let  $a, b, c \in S$  and  $\alpha, \beta \in \Gamma$ . Now if  $a\alpha b$  is equal to the usual product of rational numbers  $a, \alpha, b$  then  $a\alpha b \in S$  and  $(a\alpha b)\beta c = a\alpha(b\beta c)$ . Hence *S* is a one sided  $\Gamma$ -semigroup. It is also clear that it is not a both sided  $\Gamma$ -semigroup.

**Definition 2.2 (21).** A  $\Gamma$ -semigroup S is said to be po- $\Gamma$ -semigroup(partially ordered  $\Gamma$ -semigroup) if (1) S and  $\Gamma$  are posets, (2)  $a \leq b$  in S implies that  $a\alpha c \leq b\alpha c$ ,  $c\alpha a \leq c\alpha b$  in S for all  $c \in S$  and for all  $\alpha \in \Gamma$ , (3)  $\alpha \leq \beta$  in  $\Gamma$  implies that  $a\alpha b \leq a\beta b$  for all  $a, b \in S$ .

**Remark** 2. The partial order relations on S and  $\Gamma$  are denoted by the same symbol  $\leq$ .

**Remark** 3. Definition 2.2 is the definition of one sided po- $\Gamma$ -semigroup. It may be noted here that *T.K. Dutta and N.C. Adhikari*[5] introduced the notion of both sided po- $\Gamma$ -semigroup and also introduced the notions of operator semigroups of a both sided po- $\Gamma$ -semigroup.

Throughout this paper unless otherwise mentioned S stands for one sided  $\Gamma$ -semigroup.

**Example** 3. [5] The  $\Gamma$ -semigroup in Example 1 is a po- $\Gamma$ -semigroup with respect to  $\leq$  defined by  $(a_{ik}) \leq (b_{ik})$  if and only if  $a_{ik} \leq b_{ik}$  for all i, k. Then S is a po- $\Gamma$ -semigroup.

**Definition 2.3.** [24] A fuzzy subset  $\mu$  of a non-empty set X is a function  $\mu: X \to [0, 1]$ .

**Definition 2.4 (24).** Let  $\mu$  be a fuzzy subset of a non-empty set X. Then the set  $\mu_t = \{x \in X : \mu(x) \ge t\}$  for  $t \in [0, 1]$ , is called a level subset or the *t*-level subset of  $\mu$ .

**Definition 2.5.** [3]Let S be a  $\Gamma$ -semigroup. Then the relation  $\rho$  on  $S \times \Gamma$ , defined by  $(x, \alpha)\rho(y, \beta)$  if and only if  $x\alpha s = y\beta s$  for all  $s \in S$ , is an equivalence relation. Let  $[x, \alpha]$  denote the equivalence class containing  $(x, \alpha)$ . Let  $L = \{[x, \alpha] : x \in S, \alpha \in \Gamma\}$ . Then L is a semigroup with respect to the multiplication defined by  $[x, \alpha][y, \beta] = [x\alpha y, \beta]$ . This semigroup L is called the left operator semigroup of the  $\Gamma$ -semigroup S. Dually the right operator semigroup R of S is defined where the multiplication is defined by  $[\alpha, a][\beta, b] = [\alpha, a\beta b]$ .

If there exists an element  $[e, \delta] \in L([\gamma, f] \in R)$  such that  $e\delta s = s(\text{resp.} s\gamma f = s)$  for all  $s \in S$  then  $[e, \delta](\text{resp.} [\gamma, f])$  is called the left(resp. right) unity of S.

Note 2. The left(right) unity of S is the identity of L(respectively R).

From Definition 2.2 we easily obtain the following:

**Proposition 2.6.** Let S be a  $\Gamma$ -semigroup with S,  $\Gamma$  are posets. Then S is a po- $\Gamma$ -semigroup if and only if  $a \leq b$ ,  $\alpha \leq \beta$ ,  $c \leq d \Rightarrow a\alpha c \leq b\beta d$ , for all  $a, b, c, d \in S$  and  $\alpha, \beta \in \Gamma$ .

Now we easily obtain the following theorems.

**Theorem 2.7.** Let S be a po- $\Gamma$ -semigroup. Then the left operator semigroup L and the right operator semigroup R of S are po-semigroups where  $[a, \alpha] \leq [b, \beta]$ in L if and only if  $\forall s \in S$ ,  $a\alpha s \leq b\beta s$  in S and  $[\alpha, a] \leq [\beta, b]$  in R if and only if  $\forall s \in S$ ,  $s\alpha a \leq s\beta b$  in S.

**Theorem 2.8.** Let S be a  $\Gamma$ -semigroup with unities and L and R be posemigroups. Then S is a po- $\Gamma$ -semigroup where  $a \leq b$  in S if and only if  $\forall \alpha \in \Gamma \ [a, \alpha] \leq [b, \alpha]$  in L and  $[\alpha, a] \leq [\alpha, b]$  in R.

**Definition 2.9.** [14] For a fuzzy subset  $\mu$  of R we define a fuzzy subset  $\mu^*$  of S by  $\mu^*(a) = \inf_{\gamma \in \Gamma} \mu([\gamma, a])$ , where  $a \in S$ . For a fuzzy subset  $\eta$  of S we define a fuzzy subset  $\eta^{*'}$  of R by  $\eta^{*'}([\alpha, a]) = \inf_{s \in S} \eta(s\alpha a)$ , where  $[\alpha, a] \in R$ . For a

fuzzy subset  $\delta$  of L, we define a fuzzy subset  $\delta^+$  of S by  $\delta^+(a) = \inf_{\gamma \in \Gamma} \delta([a, \gamma])$ , where  $a \in S$ . For a fuzzy subset  $\nu$  of S we define a fuzzy subset  $\nu^{+'}$  of L by  $\nu^{+'}([a, \alpha]) = \inf_{s \in S} \nu(a\alpha s)$ , where  $[a, \alpha] \in L$ .

For the corresponding notions in crisp set we refer to [3] and [4].

### **3** Semilattice congruence on po-Γ-semigroup

**Definition 3.1.** Let R be a relation on a po- $\Gamma$ -semigroup S. Then (i) R is called compatible if xRy implies  $(a\gamma x)R(a\gamma y)$  and  $(x\gamma a)R(y\gamma a)$  for all  $x, y, a \in S$  and for all  $\gamma \in \Gamma$ , where xRy means  $(x, y) \in R$ . (ii) R is called a congruence relation on S, if it is a compatible equivalence relation on S.

Generally the set of all compatible relations on S is denoted by Com(S) and the set of all congruence relations on S is denoted by Con(S).

**Definition 3.2.** Let  $\rho$  be a relation on S. Then  $\rho^{+'}$ , defined by  $[x, \alpha]\rho^{+'}[y, \beta]$  if and only if  $(x\alpha s)\rho(y\beta s) \ \forall s \in S$ , is a relation on L.

Similarly, for a relation  $\sigma$  on L,  $\sigma^+$  defined by  $x\sigma^+y$  if and only if  $[x, \alpha]\sigma[y, \alpha]$  $\forall \alpha \in \Gamma$  is a relation on S.

**Definition 3.3.** [6]Let S be a po-semigroup. An equivalence relation  $\sigma$  on S is a ordered semilattice congruence if

(1)  $\sigma$  is a congruence:

 $(a,b) \in \sigma \Rightarrow (ac,bc) \in \sigma, (ca,cb) \in \sigma \forall a, b, c \in S,$ 

(2)  $(a^2, a) \in \sigma$  and  $(ab, ba) \in \sigma \, \forall a, b \in S$ ,

(3) For any  $a, b \in S$  with  $a \leq b \Rightarrow (a, ab) \in \sigma$ .

**Definition 3.4.** [23]Let S be a po- $\Gamma$ -semigroup. An equivalence relation  $\sigma$  on S is a ordered semilattice congruence if

(1)  $\sigma$  is a congruence:

$$(a,b) \in \sigma \Rightarrow (a\gamma c, b\gamma c) \in \sigma, (c\gamma a, c\gamma b) \in \sigma \forall a, b, c \in S, \forall \gamma \in \Gamma,$$

- (2)  $(a\gamma a, a) \in \sigma$  and  $(a\gamma b, b\gamma a) \in \sigma \, \forall a, b \in S, \forall \gamma \in \Gamma$ ,
- (3) For any  $\gamma \in \Gamma$  and  $a, b \in S$  with  $a \leq b \Rightarrow (a, a\gamma b) \in \sigma$ .

The set of all ordered semilattice congruences on S is generally denoted by OSC(S).

In what follows the po- $\Gamma$ -semigroup S is assumed to be with left and right unities.

**Proposition 3.5.** Let S be a po- $\Gamma$ -semigroup and  $\sigma \in OSC(S)$ . Then  $\sigma^{+'} \in OSC(L)$ .

*Proof.* Clearly  $\mu^{+'}$  is an equivalence relation on *L*. Now let  $([x, \alpha], [y, \beta]) \in \sigma^{+'}$ . Then  $(x\alpha s, y\beta s) \in \sigma \ \forall s \in S(\text{cf. Def } 3.2)$ . Since  $\sigma$  is congruence in S,  $(x\alpha s\gamma z, y\beta s\gamma z) \in \sigma \ \forall s, z \in S, \forall \gamma \in \Gamma.$  So  $([x\alpha s, \gamma], [y\beta s, \gamma]) \in \sigma^{+'}$  whence  $([x,\alpha][s,\gamma],[y,\beta][s,\gamma]) \in \sigma^{+'} \forall s \in S, \forall \gamma \in \Gamma. \text{ Similarly} ([s,\gamma][x,\alpha],[s,\gamma][y,\beta]) \in \sigma^{+'} \forall s \in S, \forall \gamma \in \Gamma. \text{ Similarly} ([s,\gamma][x,\alpha],[s,\gamma][y,\beta]) \in \sigma^{+'} \forall s \in S, \forall \gamma \in \Gamma. \text{ Similarly} ([s,\gamma][x,\alpha],[s,\gamma][y,\beta]) \in \sigma^{+'} \forall s \in S, \forall \gamma \in \Gamma. \text{ Similarly} ([s,\gamma][x,\alpha],[s,\gamma][y,\beta]) \in \sigma^{+'} \forall s \in S, \forall \gamma \in \Gamma. \text{ Similarly} ([s,\gamma][x,\alpha],[s,\gamma][y,\beta]) \in \sigma^{+'} \forall s \in S, \forall \gamma \in \Gamma. \text{ Similarly} ([s,\gamma][x,\alpha],[s,\gamma][y,\beta]) \in \sigma^{+'} \forall s \in S, \forall \gamma \in \Gamma. \text{ Similarly} ([s,\gamma][x,\alpha],[s,\gamma][y,\beta]) \in \sigma^{+'} \forall s \in S, \forall \gamma \in \Gamma. \text{ Similarly} ([s,\gamma][x,\alpha],[s,\gamma][y,\beta]) \in \sigma^{+'} \forall s \in S, \forall \gamma \in \Gamma. \text{ Similarly} ([s,\gamma][x,\alpha],[s,\gamma][y,\beta]) \in \sigma^{+'} \forall s \in S, \forall \gamma \in \Gamma. \text{ Similarly} ([s,\gamma][x,\alpha],[s,\gamma][y,\beta]) \in \sigma^{+'} \forall s \in S, \forall \gamma \in \Gamma. \text{ Similarly} ([s,\gamma][x,\alpha],[s,\gamma][y,\beta]) \in \sigma^{+'} \forall s \in S, \forall \gamma \in \Gamma. \text{ Similarly} ([s,\gamma][x,\alpha],[s,\gamma][y,\beta]) \in \sigma^{+'} \forall s \in S, \forall \gamma \in \Gamma. \text{ Similarly} ([s,\gamma][x,\alpha],[s,\gamma][y,\beta]) \in \sigma^{+'} \forall s \in S, \forall \gamma \in \Gamma. \text{ Similarly} ([s,\gamma][x,\alpha],[s,\gamma][y,\beta]) \in \sigma^{+'} \forall s \in S, \forall \gamma \in \Gamma. \text{ Similarly} ([s,\gamma][x,\alpha],[s,\gamma][y,\beta]) \in \sigma^{+'} \forall s \in S, \forall \gamma \in \Gamma. \text{ Similarly} ([s,\gamma][x,\alpha],[s,\gamma][y,\beta]) \in \sigma^{+'} \forall s \in S, \forall \gamma \in \Gamma. \text{ Similarly} ([s,\gamma][x,\alpha],[s,\gamma][y,\beta]) \in \sigma^{+'} \forall s \in S, \forall \gamma \in \Gamma. \text{ Similarly} ([s,\gamma][x,\alpha],[s,\gamma][y,\beta]) \in \sigma^{+'} \forall s \in S, \forall \gamma \in \Gamma. \text{ Similarly} ([s,\gamma][x,\alpha],[s,\gamma][y,\beta]) \in \sigma^{+'} \forall s \in S, \forall \gamma \in \Gamma. \text{ Similarly} ([s,\gamma][x,\alpha],[s,\gamma][y,\beta]) \in \sigma^{+'} \forall s \in S, \forall \gamma \in \Gamma. \text{ Similarly} ([s,\gamma][x,\alpha],[s,\gamma][y,\beta]) \in \sigma^{+'} \forall s \in S, \forall \gamma \in \Gamma. \text{ Similarly} ([s,\gamma][x,\alpha],[s,\gamma][y,\beta]) \in \sigma^{+'} \forall s \in S, \forall \gamma \in \Gamma. \text{ Similarly} ([s,\gamma][x,\alpha],[s,\gamma][y,\beta]) \in \sigma^{+'} \forall s \in S, \forall \gamma \in \Gamma. \text{ Similarly} ([s,\gamma][x,\alpha],[s,\gamma][y,\beta]) \in \sigma^{+'} \forall s \in \Gamma. \text{ Similarly} ([s,\gamma][x,\alpha],[s,\gamma][y,\beta]) \in \sigma^{+'} \forall s \in \Gamma. \text{ Similarly} ([s,\gamma][x,\alpha],[s,\gamma][y,\beta]) \in \sigma^{+'} \forall s \in \Gamma. \text{ Similarly} ([s,\gamma][x,\alpha],[s,\gamma][y,\beta]) \in \sigma^{+'} \forall s \in \Gamma. \text{ Similarly} ([s,\gamma][x,\alpha],[s,\gamma][x,\alpha]) \in \sigma^{+'} \forall s \in \Gamma. \text{ Similarly} ([s,\gamma][x,\alpha],[s,\gamma][x,\alpha]) \in \sigma^{+'} \forall s \in \Gamma. \text{ Similarly} ([s,\gamma][x,\alpha],[s,\gamma][x,\alpha]) \in \sigma^{+'} \forall s \in \Gamma. \text{ Similarly} ([s,\gamma][x,\alpha],[s,\gamma][x,\alpha]) \in \sigma^{+'} \forall s \in \Gamma. \text{ Similarly} ([s,\gamma][x,\alpha],[s,\gamma][x,\alpha]) \in \sigma^{+'} \forall s$  $\sigma^{+'} \forall s \in S, \forall \gamma \in \Gamma$ . Hence  $\sigma^{+'}$  is a congruence in L. By Definition 3.4,  $(x\alpha x, x) \in \sigma \ \forall x \in S, \forall \alpha \in \Gamma \text{ whence } (x\alpha x\alpha s, x\alpha s) \in \sigma \ \forall x, s \in S, \forall \alpha \in \Gamma \text{ i.e.},$  $([x,\alpha][x,\alpha],[x,\alpha]) \in \sigma^{+'} \quad \forall x \in S, \alpha \in \Gamma.$  Now let  $[x,\alpha], [y,\beta] \in L.$  By Definition 3.4,  $(s\alpha x, x\alpha s) \in \sigma \Rightarrow (y\beta s\alpha x, y\beta x\alpha s) \in \sigma \quad \forall s \in S. \text{ Again } (x\alpha y\beta s, y\beta s\alpha x) \in \sigma$  $\forall s \in S$ . So by transitivity of  $\sigma$  we get  $(x \alpha y \beta s, y \beta x \alpha s) \in \sigma \ \forall s \in S$ . Hence  $([x,\alpha][y,\beta],[y,\beta][x,\alpha]) \in \sigma^{+'}$ . Lastly let  $[x,\alpha] \leq [y,\beta]$  in L. Then  $x\alpha s \leq y\beta s$ in  $S \ \forall s \in S$  whence  $(x \alpha s, x \alpha s \gamma y \beta s) \in \sigma \ \forall s \in S, \forall \gamma \in \Gamma(cf. Def 3.4)$ . So in paticular,  $(x\alpha e, x\alpha e\delta y\beta e) \in \sigma \Rightarrow (x\alpha e, x\alpha y\beta e) \in \sigma \Rightarrow (x\alpha e\gamma s, x\alpha y\beta e\gamma s) \in \sigma$  $\forall s \in S, \forall \gamma \in \Gamma(cf. Def 3.4)$  where  $[e, \delta]$  is the left unity of S. Now taking  $\gamma = \delta$  we get  $(x \alpha s, x \alpha y \beta s) \in \sigma \ \forall s \in S$ . So  $([x, \alpha], [x, \alpha][y, \beta]) \in \sigma^{+'}$ . Hence  $\sigma^{+'} \in OSC(L).$ 

**Proposition 3.6.** Let S be a po- $\Gamma$ -semigroup and  $\sigma \in OSC(L)$ . Then  $\sigma^+ \in OSC(S)$ .

Proof. It is easy to see that  $\sigma^+$  is an equivalence relation on S. Let  $(x, y) \in \sigma^+$ . Then  $([x, \alpha], [y, \alpha]) \in \sigma \, \forall \alpha \in \Gamma(\text{cf. Def 3.2})$ . Since  $\sigma$  is a congruence in L,  $([x, \alpha][s, \gamma], [y, \alpha] \ [s, \gamma]) \in \sigma \, \forall s \in S, \forall \alpha, \gamma \in \Gamma(\text{cf. Def 3.3})$ . So  $([x\alpha s, \gamma], [y\alpha s, \gamma]) \in \sigma \, \forall \gamma \in \Gamma$  whence  $(x\alpha s, y\alpha s) \in \sigma^+ \, \forall s \in S, \forall \alpha \in \Gamma$ . Similarly  $(s\alpha x, s\alpha y) \in \sigma^+ \, \forall s \in S, \forall \alpha \in \Gamma$ . Hence  $\sigma^+$  is a congruence in S. By Definition 3.3,  $([x, \alpha][x, \alpha], [x, \alpha]) \in \sigma$  i.e.,  $([x\alpha x, \alpha], [x, \alpha]) \in \sigma \, \forall x \in S, \forall \alpha \in \Gamma$  whence  $(x\alpha x, x) \in \sigma^+ \, \forall x \in S, \forall \alpha \in \Gamma; ([x, \alpha][y, \alpha], [y, \alpha][x, \alpha]) \in \sigma$ 

i.e.,  $([x\alpha y, \alpha], [y\alpha x, \alpha]) \in \sigma \ \forall x, y \in S, \forall \alpha \in \Gamma \text{ whence } (x\alpha y, y\alpha x) \in \sigma^+ \ \forall x, y \in S, \forall \alpha \in \Gamma. \text{ Now let } x \leq y \text{ in } S. \text{ Then } [x, \alpha] \leq [y, \alpha] \text{ in } L \ \forall \alpha \in \Gamma \text{ whence } ([x, \alpha], [x, \alpha][y, \alpha]) \in \sigma(\text{cf. Def.} 3.3) \text{ i.e., } ([x, \alpha], [x\alpha y, \alpha]) \in \sigma \ \forall \alpha \in \Gamma. \text{ So } (x, x\alpha y) \in \sigma^+. \text{ Hence we conclude that } \sigma^+ \in OSC(S).$ 

**Theorem 3.7.** Let S be a po- $\Gamma$ -semigroup with the left operator semigroup L. Then there exists an inclusion preserving bijection  $\sigma \to \sigma^{+'}$  between OSC(S) and OSC(L).

Proof. Let  $\sigma \in OSC(S)$ . Then by Proposition 3.5,  $\sigma^{+'} \in OSC(L)$ . Let  $(x, y) \in \sigma$ . Then  $\sigma$  being a congruence in  $S(x\alpha s, y\alpha s) \in \sigma \ \forall s \in S, \forall \alpha \in \Gamma$ whence  $([x, \alpha], [y, \alpha]) \in \sigma^{+'} \ \forall \alpha \in \Gamma$ . So  $(x, y) \in (\sigma^{+'})^+$ . Thus  $\sigma \subseteq (\sigma^{+'})^+$ . On the other hand, for  $x, y \in S$  let  $(x, y) \in (\sigma^{+'})^+$ . Then  $([x, \alpha], [y, \alpha]) \in \sigma^{+'}$  $\forall \alpha \in \Gamma \Rightarrow (x\alpha s, y\alpha s) \in \sigma \ \forall s \in S, \forall \alpha \in \Gamma(cf. Def 3.2) \Rightarrow (x\gamma f, y\gamma f) \in \sigma$ i.e.,  $(x, y) \in \sigma$  where  $[\gamma, f]$  is the right unity of S. Thus  $(\sigma^{+'})^+ \subseteq \sigma$ . Hence  $(\sigma^{+'})^+ = \sigma$ .

Again let  $\sigma \in OSC(L)$  and  $([x, \alpha], [y, \beta]) \in \sigma$ . Then  $\sigma$  being a congruence in L,  $([x, \alpha][s, \gamma], [y, \beta][s, \gamma]) \in \sigma$  i.e.,  $([x\alpha s, \gamma], [y\beta s, \gamma]) \in \sigma \forall s \in S, \forall \gamma \in \Gamma$ . So  $(x\alpha s, y\beta s) \in \sigma^+ \forall s \in S$  whence  $([x, \alpha], [y, \beta]) \in (\sigma^+)^+$ . Thus  $\sigma \subseteq (\sigma^+)^+$ . On the other hand, for  $[x, \alpha], [y, \beta] \in L$  let  $([x, \alpha], [y, \beta]) \in (\sigma^+)^+$ . Then  $(x\alpha s, y\beta s) \in \sigma^+ \forall s \in S$  whence  $([x\alpha s, \gamma], [y\beta s, \gamma]) \in \sigma$  i.e.,  $([x, \alpha][s, \gamma], [y, \beta][s, \gamma]) \in \sigma \forall s \in S, \gamma \in \Gamma$ . Since  $[x, \alpha][e, \delta] = [x, \alpha] \forall [x, \alpha] \in L$  where  $[e, \delta]$  is the left unity of S,  $([x, \alpha], [y, \beta]) \in \sigma$ . Thus  $(\sigma^+)^+ \subseteq \sigma$ . Hence  $(\sigma^+)^+ = \sigma$ . Hence the mapping is bijective. Let  $\sigma_1, \sigma_2 \in OSC(S)$  be such that  $\sigma_1 \subseteq \sigma_2$ . Let  $([x, \alpha], [y, \beta]) \in \sigma_1^+$ . Then  $(x\alpha s, y\beta s) \in \sigma_1 \forall s \in S$ . So  $(x\alpha s, y\beta s) \in \sigma_2 \forall s \in S$  whence  $([x, \alpha], [y, \beta]) \in \sigma_2^+$ . Hence  $\sigma_1^+ \subseteq \sigma_2^+$ . Therefore  $\sigma_1^+ \subseteq \sigma_2^+$ . Hence the result follows.  $\Box$ 

### 4 Fuzzy semilattice congruence on po-Γ-semigroup

**Definition 4.1.** Let S be a po- $\Gamma$ -semigroup. A function C from  $S \times S$  to [0, 1] is called a fuzzy relation on S.

Let C and D be two fuzzy relations on S. Then (i)  $C \subseteq D$  if and only if  $C(x,y) \leq D(x,y)$ , (ii)  $C \cap D$  if and only if  $(C \cap D)(x,y) = (C(x,y) \wedge D(x,y))$ , (iii)  $C \circ D$  if and only if  $C \circ D(x,y) = \bigvee_{z \in S} (C(x,z) \wedge D(z,y)) \quad \forall x, y \in S$ .

**Definition 4.2.** Let S be a po- $\Gamma$ -semigroup. A fuzzy relation C on S is said to be a fuzzy equivalence relation on S if it satisfies the followings (i) Fuzzy reflexive: C(x, x) = 1, (ii) Fuzzy symmetric: C(x, y) = C(y, x),

S. K. SARDAR, P. PAL AND R. MUKHERJEE

(*iii*) Fuzzy transitive:  $C(x, y) \ge \bigvee_{z \in S} (C(x, z) \land D(z, y))$  i.e.,  $C \circ C \subseteq C \forall x, y, z \in S$ .

**Definition 4.3.** Let S be a po- $\Gamma$ -semigroup and C be a fuzzy relation on S. Then

- (i) C is called a fuzzy compatible relation if  $C(a\gamma x, a\gamma y) \ge C(x, y)$  and  $C(x\gamma a, y\gamma a) \ge C(x, y) \ \forall x, y, a \in S, \gamma \in \Gamma.$
- (ii) C is called a fuzzy congruence relation on S if it is a fuzzy compatible equivalence relation on S.

**Definition 4.4.** Let *S* be a po- $\Gamma$ -semigroup and  $\mu$  be a fuzzy relation on *S*. Then  $\mu^{+'}$  defined by  $\mu^{+'}([x,\alpha], [y,\beta]) = \inf_{\substack{s \in S \\ s \in S}} \mu(x\alpha s, y\beta s)$  is a fuzzy relation on *L*. Similarly, for a fuzzy relation  $\nu$  on *L*,  $\nu^{+}$  defined by  $\nu^{+}(x,y) = \inf_{\gamma \in \Gamma} \nu([x,\gamma], [y,\gamma])$  is a fuzzy relation on *S*.

**Definition 4.5.** Let S be a po-semigroup. A fuzzy equivalence relation  $\mu$  on S is called an ordered fuzzy semilattice congruence if

(1)  $\mu$  is a fuzzy congruence relation ( $\mu(a, b) \leq \mu(ac, bc), \mu(a, b) \leq \mu(ca, cb) \forall a, b, c \in S$ ),

(2)  $\mu(a^2, a) = 1$  and  $\mu(ab, ba) = 1 \, \forall a, b \in S$ ,

(3) For any  $a, b \in S$  with  $a \leq b \Rightarrow \mu(a, ab) = 1$ .

**Definition 4.6.** Let S be a po- $\Gamma$ -semigroup. A fuzzy equivalence relation  $\mu$  on S is called an ordered fuzzy semilattice congruence if

(1)  $\mu$  is a fuzzy congruence relation, i.e,  $\mu(a\gamma x, a\gamma y) \ge \mu(x, y)$  and  $\mu(x\gamma a, y\gamma a) \ge \mu(x, y) \quad \forall x, y, a \in S \text{ and } \forall \gamma \in \Gamma.$ 

(2)  $\mu(a\gamma a, a) = 1$  and  $\mu(a\gamma b, b\gamma a) = 1 \ \forall a, b \in S, \forall \gamma \in \Gamma$ ,

(3) For any  $\gamma \in \Gamma$  and  $a, b \in S$  with  $a \leq b \Rightarrow \mu(a, a\gamma b) = 1$ .

The set of all ordered fuzzy semilattice congruences on S is generally denoted by OFSC(S).

It is a matter of routine verification that the definition of ordered fuzzy semilattice congruence satisfies characteristic function criterion and level subset criterion.

**Theorem 4.7.** Let R be a relation on a po- $\Gamma$ -semigroup S and  $\chi_R$  be the characteristic function of R. Then  $R \in OSC(S)$  if and only if  $\chi_R \in OFSC(S)$ .

**Theorem 4.8.** Let S be a po- $\Gamma$ -semigroup. Then  $\mu \in OFSC(S)$  if and only if  $R_{\mu}(t) \in OSC(S)$  for all  $t \in [0,1]$ , where  $R_{\mu}(t) = \{(a,b) \in S \times S : \mu(a,b) \ge t\}$  is the t-level subset of  $\mu$  in S.

In what follows a po- $\Gamma$ -semigroup S is assumed to be with left and right unities.

**Proposition 4.9.** Let S be a po- $\Gamma$ -semigroup and  $\mu \in OFSC(S)$ . Then  $\mu^{+'} \in OFSC(L)$ .

Proof. Clearly  $\sigma^{+'}$  is a fuzzy equivalence relation on *L*. Now for *x*, *y*, *z* ∈ *S* and  $\alpha, \beta, \gamma \in \Gamma, \mu^{+'}([x, \alpha][z, \gamma], [y, \beta][z, \gamma]) = \inf_{s \in S} \mu(x \alpha z \gamma s, y \beta z \gamma s) \ge \mu(x \alpha z, y \beta z)$ (cf. Def 4.6)  $\ge \inf_{z \in S} \mu(x \alpha z, y \beta z) = \mu^{+'}([x, \alpha], [y, \beta])$ . Similarly  $\mu^{+'}([s, \gamma][x, \alpha], [s, \gamma][y, \beta]) \ge \mu^{+'}([x, \alpha], [y, \beta]) \forall s \in S, \forall \gamma \in \Gamma$ . Hence  $\mu^{+'}$  is a fuzzy congruence in *L*. Now let  $[x, \alpha] \in L$ . Then  $\mu(x \alpha x, x) = 1 \forall x \in S, \forall \alpha \in \Gamma$ . Since  $\mu$  is fuzzy congruence,  $\mu(x \alpha x \alpha s, x \alpha s) \ge \mu(x \alpha x, x) = 1 \forall s \in S$ , whence  $\mu(x \alpha x \alpha s, x \alpha s) = 1 \forall s \in S$ . So  $\inf_{s \in S} \mu(x \alpha x \alpha s, x \alpha s) = 1$  i.e.,  $\mu^{+'}([x, \alpha][x, \alpha], [x, \alpha]) = 1$ . Now let  $[x, \alpha], [y, \beta] \in L$ . By Definition 4.6,  $\mu(s \alpha x, x \alpha s) = 1 \Rightarrow \mu(y \beta s \alpha x, y \beta x \alpha s) = 1 \forall s \in S$ . Again  $\mu(x \alpha y \beta s, y \beta s \alpha x) = 1 \forall s \in S$ . So by transitivity of  $\mu$  we get  $\mu(x \alpha y \beta s, y \beta x \alpha s) = 1$ . Hence  $\mu^{+'}([x, \alpha][y, \beta], [y, \beta][x, \alpha]) = 1$ . Lastly let  $[x, \alpha] \le [y, \beta]$  in *L*. So  $x \alpha s \le y \beta s$  in *S*  $\forall s \in S$  whence  $\mu(x \alpha s, x \alpha s \gamma y \beta s) = 1 \forall s \in S, \forall \gamma \in \Gamma(cf. Def 4.6)$ . So  $\mu(x \alpha e, x \alpha e \delta y \beta e) = 1 \Rightarrow \mu(x \alpha e, x \alpha y \beta e) = 1 \Rightarrow \mu(x \alpha e, x \alpha y \beta e) = 1 \Rightarrow \mu(x \alpha e \gamma s, x \alpha y \beta e \gamma s) = 1 (\forall s \in S, \gamma \in \Gamma) \Rightarrow \mu(x \alpha s, x \alpha y \beta s) = 1 \forall s \in S$  where  $[e, \delta]$  is the left unity of *S*. So  $\inf_{s \in S} \mu(x \alpha s, x \alpha y \beta s) = 1$  i.e.,  $\mu^{+'}([x, \alpha], [x, \alpha], [x, \alpha], [y, \beta]) = 1$ . Hence  $\mu^{+'} \in OFSC(L)$ . □

**Proposition 4.10** Let S be a no- $\Gamma$ -semigroup and  $\mu$ 

**Proposition 4.10.** Let S be a po- $\Gamma$ -semigroup and  $\mu \in OFSC(L)$ . Then  $\mu^+ \in OFSC(S)$ .

Proof. Clearly μ<sup>+</sup> is a fuzzy equivalence relation on S. Now for x, y, z ∈ S, and α ∈ Γ, μ<sup>+</sup>(xαz, yαz) = inf<sub>γ∈Γ</sub>μ([xαz, γ], [yαz, γ]) = inf<sub>γ∈Γ</sub>μ([x, α][z, γ], [y, α][z, γ]) ≥ μ([x, α], [y, α]) (cf. Def 4.5) ≥ inf<sub>α∈Γ</sub>μ([x, α], [y, α]) = μ<sup>+</sup>(x, y). Similarly μ<sup>+</sup>(zαx, zαy) ≥ μ<sup>+</sup>(x, y)∀z ∈ S, α ∈ L. Hence μ<sup>+</sup> is fuzzy congruence in S. By Definition 4.5, μ([x, α][x, α], [x, α]) = 1 i.e., μ([xαx, α], [x, α]) = 1 ∀x ∈ S, ∀α ∈ Γ. So inf<sub>α∈Γ</sub>μ([xαx, α], [x, α]) = 1 whence μ<sup>+</sup>(xαx, x) = 1 ∀x ∈ S, ∀α ∈ Γ(cf. Def 4.4). Again by Definition 4.5, μ([x, α][y, α], [y, α][x, α]) = 1 i.e., μ([xαy, α], [yαx, α]) = 1 ∀x, y ∈ S, ∀α ∈ Γ. So inf<sub>α∈Γ</sub>μ([xαy, α], [yαx, α]) = 1 whence μ<sup>+</sup>(xαy, yαx) = 1 ∀x, y ∈ S, ∀α ∈ Γ. Lastly let x ≤ y in S. So [x, α] ≤ [y, α] in L ∀α ∈ Γ whence μ([x, α], [x, α][y, α]) = 1 (cf. Def4.5) i.e., μ([x, α], [xαy, α]) = 1 ∀α ∈ Γ. So inf<sub>α∈Γ</sub>μ([xαy, α]) = 1 whence μ<sup>+</sup>(x, xαy) = 1. Hence μ<sup>+</sup> ∈ OFSC(S).

158

**Theorem 4.11.** Let S be a po- $\Gamma$ -semigroup with the left operator semigroup L. Then there exists an inclusion preserving bijection  $\mu \to \mu^{+'}$  between OFSC(S) and OFSC(L).

Proof. Let  $\mu \in OFSC(S)$ . Then by Proposition 4.9,  $\mu^{+'} \in OFSC(L)$ . Let  $x, y \in S$ . Then  $\mu$  being a fuzzy congruence in  $S \ \mu(x, y) \leq \mu(x\alpha s, y\alpha s) \ \forall s \in S, \forall \alpha \in \Gamma$ . Hence  $\mu(x, y) \leq \mu^{+'}([x, \alpha], [y, \alpha]) \ \forall \alpha \in \Gamma$  whence  $\mu(x, y) \leq (\mu^{+'})^+(x, y)$  (cf. Def 4.4). Thus  $\mu \subseteq (\mu^{+'})^+$ . On the other hand, let  $x, y \in S$ .  $(\mu^{+'})^+(x, y) = \inf_{\alpha \in \Gamma} \mu^{+'}([x, \alpha], [y, \alpha]) = \inf_{\alpha \in \Gamma} \inf_{s \in S} \mu(x\alpha s, y\alpha s) \leq \mu(x, y)$  (since S has right unity). Thus  $(\mu^{+'})^+ \subseteq \mu$ . Hence  $(\mu^{+'})^+ = \mu$ .

Again let  $\mu \in OFSC(L)$  and  $[x, \alpha], [y, \beta] \in L$ . Then by Definition 4.5,  $\mu([x, \alpha], [y, \beta]) \leq \mu([x, \alpha][s, \gamma], [y, \beta][s, \gamma]) = \mu([x\alpha s, \gamma], [y\beta s, \gamma]) \forall s \in S, \forall \gamma \in \Gamma$ . So  $\mu([x, \alpha], [y, \beta]) \leq \mu^+(x\alpha s, y\beta s) \forall s \in S$  whence  $\mu([x, \alpha], [y, \beta]) \leq (\mu^+)^+([x, \alpha], [y, \beta]) (cf. Def 4.4)$ . Thus  $\mu \subseteq (\mu^+)^+$ . On the other hand, for  $[x, \alpha], [y, \beta] \in L, \quad (\mu^+)^+([x, \alpha], [y, \beta]) = \inf_{s \in S} \mu^+(x\alpha s, y\beta s) = \inf_{s \in S} \inf_{\gamma \in \Gamma} \mu([x\alpha s, \gamma], [y\beta s, \gamma]) = \inf_{s \in S \gamma \in \Gamma} \mu([x, \alpha][s, \gamma], [y, \beta][s, \gamma]) \leq \mu([x, \alpha], [y, \beta])$ (since S has left unity and so L has identity). Thus  $(\mu^+)^{+'} \subseteq \mu$ . Hence  $(\mu^+)^{+'} = \mu$ . Hence the mapping is bijective. Let  $\mu_1, \mu_2 \in OFSC(S)$  be such that  $\mu_1 \subseteq \mu_2$ . Let  $([x, \alpha], [y, \beta]) \in L$ . Then  $\mu_1^{+'}([x, \alpha], [y, \beta]) = \inf_{s \in S} \mu_1(x\alpha s, y\beta s) \leq \inf_{s \in S} \mu_2(x\alpha s, y\alpha s) = \mu_2^{+'}([x, \alpha], [y, \beta])$ . Therefore  $\mu_1^{+'} \subseteq \mu_2^{+'}$ . Hence the theorem.  $\Box$ 

Now following the terminology of [10] we define the following notion in po-semigroup and po- $\Gamma$ -semigroup.

**Definition 4.12.** Let  $\mu$  be a fuzzy equivalence on a po-semigroup(po- $\Gamma$ -semigroup) S. For each  $a \in S$ , we define a fuzzy subset  $\mu_a$  of S as follows:

$$\mu_a(x) = \mu(a, x) \forall x \in S.$$

The fuzzy subset  $\mu_a$  of S is called the fuzzy equivalence class of  $\mu$  containing a.

**Note** 3. It is easy to verify that  $\mu_a = \mu_b$  if and only if  $\mu(a, b) = 1 \quad \forall a, b \in S$  and if  $\mu \in OFSC(S)$  then  $\mu_a$  is a fuzzy subsemigroup of  $S \quad \forall a \in S$ .

**Proposition 4.13.** Let  $\mu \in OFSC(S)$  where S be a po- $\Gamma$ -semigroup S. Then  $S/\mu = \{\mu_a : a \in S\}$  is a commutative po- $\Gamma$ -semigroup with respect to the map from  $S/\mu \times \Gamma \times S/\mu \rightarrow S/\mu$  by  $(\mu_a, \gamma, \mu_b) \rightarrow \mu_{a\gamma b}$  and with respect to the usual partial order(fuzzy set inclusion).

Proof. Let  $\mu_a = \mu_{a_1}$  and  $\mu_b = \mu_{b_1}$  where  $a, b, a_1, b_1 \in S$ . Then  $\mu(a, a_1) = 1 = \mu(b, b_1)$ . Then  $\mu(a\gamma b, a_1\gamma b_1) \ge \mu(a\gamma b, a_1\gamma b) \land \mu(a_1\gamma b, a_1\gamma b_1) \ge \mu(a, a_1) \land \mu(b, b_1)$  (cf. Def 4.6) = 1. So  $\mu_{a\gamma b} = \mu_{a_1\gamma b_1}$ . Hence the map is well-defined. Now for  $a, b, c \in S$  and  $\alpha, \gamma \in \Gamma$ ,  $\mu_a \gamma(\mu_b \alpha \mu_c) = \mu_a \gamma \mu_{b\alpha c} = \mu_{a\gamma(b\alpha c)} = \mu_{(a\gamma b)\alpha c} = \mu_{(a\gamma b)\alpha c} = \mu_{(a\gamma b)\alpha c} = \mu_{(a\gamma b)\alpha c}$ . Hence  $S/\mu$  is a  $\Gamma$ -semigroup. Now let  $a, b \in S$  and  $\gamma \in \Gamma$ . Since  $\mu \in OFSC(S)$ ,  $\mu(a\gamma b, b\gamma a) = 1$ . So  $\mu_{a\gamma b} = \mu_{b\gamma a}$  which means  $\mu_a \gamma \mu_b = \mu_b \gamma \mu_a$ . Hence  $S/\mu$  is a commutative  $\Gamma$ -semigroup. Again  $S/\mu$  is poset with usual fuzzy set inclusion. Let  $a, b, c \in S$  and  $\gamma \in \Gamma$  with  $\mu_a \le \mu_b$ . So  $\mu(a, x) \le \mu(b, x) \forall x \in S$ . Then  $\mu(b\gamma c, x) \ge \mu(b\gamma c, a\gamma c) \land \mu(a\gamma c, x) \ge \mu(b, a) \land \mu(a\gamma c, x) \ge \mu(a, a) \land \mu(a\gamma c, x) = 1 \land \mu(a\gamma c, x) = \mu(a\gamma c, x) \forall x \in S$ . Hence  $\mu_a \gamma \mu_c \le \mu_b \gamma \mu_c$ . Similarly we obtain  $\mu_c \gamma \mu_a \le \mu_c \gamma \mu_b$ . Hence  $S/\mu$  is commutative  $\Gamma$ -semigroup.

Applying the same argument as above we obtain the following result.

**Proposition 4.14.** Let S be a po-semigroup and  $\mu \in OFSC(S)$ . Then  $S/\mu$  is a commutative po-semigroup under multiplication \* defined by  $\mu_a * \mu_b = \mu_{ab}$  and with respect to the partial order  $\leq$  where  $\mu_a \leq \mu_b$  if and only if  $\mu(a, x) \leq \mu(b, x)$   $\forall x \in S$ .

If the composition of fuzzy congruences,  $\circ$ , is commutative in both FSC(S)and FSC(L) then  $\langle FSC(S), \circ, \cap \rangle$  and  $\langle FSC(L), \circ, \cap \rangle$  both become lattices.

**Proposition 4.15.** Let S be a  $\Gamma$ -semigroup with unities and L be its operator semigroup. Then there exists a lattice isomorphism between FSC(S) and FSC(L) via the mapping  $\sigma \to \sigma^{+'}$ .

*Proof.* By the proof of Theorem 4.11 we see that the map is inclusion preserving. So it is sufficient to prove that  $(\mu \cap \nu)^{+'} = \mu^{+'} \cap \nu^{+'}$  and  $(\mu \circ \nu)^{+'} = \mu^{+'} \circ \nu^{+'}$  $\forall \mu, \nu \in FSC(S)$ . Let  $[x, \alpha], [y, \beta] \in L$ . Then

$$\begin{aligned} (\mu \cap \nu)^{+'}([x,\alpha],[y,\beta]) &= \inf_{s \in S} (\mu \cap \nu)(x\alpha s, y\beta s) \\ &= \inf_{s \in S} \{\mu(x\alpha s, y\beta s) \wedge \nu(x\alpha s, y\beta s)\} \\ &= \inf_{s \in S} \mu(x\alpha s, y\beta s) \wedge \inf_{s \in S} \nu(x\alpha s, y\beta s) \\ &= \mu^{+'}([x,\alpha],[y,\beta]) \wedge \nu^{+'}([x,\alpha],[y,\beta]) \\ &= (\mu^{+'} \cap \nu^{+'})([x,\alpha],[y,\beta]). \end{aligned}$$

#### S. K. SARDAR, P. PAL AND R. MUKHERJEE

$$\begin{aligned} (\mu \circ \nu)^{+'}([x, \alpha], [y, \beta]) &= \inf_{s \in S} (\mu \circ \nu)(x \alpha s, y \beta s) \\ &= \inf_{s \in S} \sup_{z \in S} \{\mu(x \alpha s, z) \wedge \nu(z, y \beta s)\} \\ &\geq \inf_{s \in S} \sup_{z \gamma s \in S} \{\mu(x \alpha s, z \gamma s) \wedge \nu(z \gamma s, y \beta s)\} \\ &\geq \sup_{z \gamma s \in S} \{\inf_{s \in S} \mu(x \alpha s, z \gamma s) \wedge \inf_{s \in S} \nu(z \gamma s, y \beta s)\} \\ &\geq (\mu^{+'} \circ \nu^{+'})([x, \alpha], [y, \beta]). \end{aligned}$$

Again

$$(\mu^{+'} \circ \nu^{+'})([x,\alpha], [y,\beta]) = \sup_{[z,\gamma] \in L} \{\mu^{+'}([x,\alpha], [z,\gamma]) \land \nu^{+'}([z,\gamma], [y,\beta])\}$$

- $= \sup_{[z,\gamma]\in L} \{ \inf_{s\in S} \mu(x\alpha s, z\gamma s) \land \inf_{s\in S} \nu(z\gamma s, y\beta s) \}$ = inf sup {  $\mu(x\alpha s, z\gamma s) \land \nu(z\gamma s, y\beta s) \}$
- $= \inf_{s \in S} \sup_{[z,\gamma] \in L} \{ \mu(x\alpha s, z\gamma s) \land \nu(z\gamma s, y\beta s) \}$
- $\geq \inf_{s \in S} \sup_{z \in S} \{ \mu(x \alpha s, z \delta s) \land \nu(z \delta s, y \beta s) \} , \text{ fixing } \gamma \text{ by } \delta$
- $\geq \inf_{s \in S} \sup_{z \in S} \{ \mu(x \alpha s, z) \land \mu(z, z \delta s) \land \nu(z \delta s, z) \land \nu(z, y \beta s) \}$ =  $\inf_{s \in S} \{ \sup_{z \in S} \{ \mu(x \alpha s, z) \land \nu(z, y \beta s) \} \land \sup_{z \in S} \{ \nu(z \delta s, z) \land \mu(z, z \delta s) \} \}$
- $\geq (\mu \circ \nu)^{+'}([x,\alpha],[y,\beta]) \wedge \inf_{s \in S} \sup_{z \in S} \{\mu(z,z\delta s) \wedge \nu(z\delta s,z)\}$
- $= (\mu \circ \nu)^{+'}([x, \alpha], [y, \beta]) \land 1, \text{ since } \mu, \nu \in FSC(S)$  $= (\mu \circ \nu)^{+'}([x, \alpha], [y, \beta]).$

Hence the result follows.

**Theorem 4.16.** Let S be a  $\Gamma$ -semigroup with unities and H be any sublattice of the lattice  $\langle FSC(S), \circ, \cap \rangle$ . Then H is a modular lattice.

Proof. Let  $H^{+'} = \{\mu^{+'} : \mu \in FSC(S)\}$ . Then  $H^{+'} \subseteq FSC(L)$ . Clearly  $H^{+'}$ is a poset under the set inclusion  $\leq$  in L. Since  $(\mu \cap \nu)^{+'} = \mu^{+'} \cap \nu^{+'}$  and  $(\mu \circ \nu)^{+'} = \mu^{+'} \circ \nu^{+'}$  where  $\mu, \nu \in FSC(S)$  (cf. Prop 4.15),  $\langle H^{+'}, \circ, \cap \rangle$  is a sublattice of the lattice  $\langle FSC(L), \circ, \cap \rangle$ . Hence by Theorem 5.7.21 of [10]  $H^{+'}$  is a modular lattice. Now let  $\mu \leq \sigma$  in H. Then  $\mu(x \alpha s, \eta \beta s) \leq \sigma(x \alpha s, \eta \beta s) \forall x, y, s \in S, \forall \alpha, \beta \in \Gamma$ .

$$\mu(x\alpha s, y\beta s) \leq \sigma(x\alpha s, y\beta s) \forall x, y, s \in S, \forall \alpha, \beta \in \Gamma.$$
  

$$\Rightarrow \inf_{s \in S} \mu(x\alpha s, y\beta s) \leq \inf_{s \in S} \sigma(x\alpha s, y\beta s) \forall x, y \in S, \forall \alpha, \beta \in \Gamma.$$
  

$$\Rightarrow \mu^{+'}([x, \alpha], [y, \beta]) \leq \sigma^{+'}([x, \alpha], [y, \beta]) \forall x, y \in S, \forall \alpha, \beta \in \Gamma.$$
  

$$\Rightarrow \mu^{+'} \leq \sigma^{+'} \text{ in } H^{+'}.$$
  

$$\Rightarrow (\mu^{+'} \circ \nu^{+'}) \cap \sigma^{+'} \leq \mu^{+'} \circ (\nu^{+'} \cap \sigma^{+'}) \forall \nu^{+'} \in H^{+'}, \text{ since } H^{+'} \text{ is modular lattice}$$

 $\begin{array}{l} \Rightarrow (\mu \circ \nu)^{+'} \cap \sigma^{+'} \leq \mu^{+'} \circ (\nu \cap \sigma)^{+'} \ \forall \nu \in H. \\ \Rightarrow \{(\mu \circ \nu) \cap \sigma\}^{+'} \leq \{\mu \circ (\nu \cap \sigma)\}^{+'} \ \forall \nu \in H. \\ \Rightarrow (\{(\mu \circ \nu) \cap \sigma\}^{+'})^{+} \leq (\{\mu \circ (\nu \cap \sigma)\}^{+'})^{+} \ \forall \nu \in H. \\ \Rightarrow (\mu \circ \nu) \cap \sigma \leq \mu \circ (\nu \cap \sigma) \ \forall \nu \in H. \text{ Hence } H \text{ is a modular lattice.} \end{array}$ 

## References

- [1] M.K. Chakraborty and M. Das; On fuzzy equivalence I, Fuzzy Sets and Systems, 11 (1983) 185-193.
- M.K. Chakraborty and M. Das; On fuzzy equivalence II, Fuzzy Sets and Systems, 11 (1983) 299-307.
- [3] S. Chattopadhyay; Right inverse Γ-semigroups, Bull Cal Math Soc, 93 (2001) 435-442.
- [4] T.K. Dutta and N.C. Adhikari; On Γ-semigroup with the right and left unities, Soochow J. Math., 19 (4)(1993) 461-474.
- [5] T.K. Dutta and N.C. Adhikari; On partially ordered Γ-semigroup, South East Asian Bull. Math., 28 (6)(2004) 1021-1028.
- [6] Z. Gao; On the least property of the semilattice congruence on po-semigroups, Semigroup Forum, 56 (1998) 323-333.
- [7] Inheung Chon; ε-Fuzzy congruences on semigroups, Commun. Korean Math. Soc. 23
   (4) (2008),461-468.
- [8] N. Kuroki, Fuzzy congruences and fuzzy normal subgroups, Inform. Sci., 60 (1992) 247-259.
- [9] N. Kuroki, Fuzzy congruences on inverse semigroups, Fuzzy Sets and Systems, 87 (1997) 335-340.
- [10] J.N. Mordeson, D.S. Malik, N. Kuroki, Fuzzy semigroups, Springer-Verlag(1997).
- P. Das, Lattice of fuzzy congruences in inverse semigroups, Fuzzy Sets and Systems, 91 (1997) 399-408.
- [12] V. Murali; Fuzzy equivalence relations, Fuzzy Sets and Systems, 30 (1989) 155-163.
- [13] V. Murali; Fuzzy congruence relations, Fuzzy Sets and Systems, 41 (1991) 359-369.
- [14] S.K. Sardar and S.K. Majumder; On fuzzy ideals in  $\Gamma$ -semigroups, International Journal of Algebra, 3(16) (2009) 775-784.
- [15] S.K. Sardar, S.K. Majumder and D. Mandal; A note on characterization of prime ideals of Γ-semigroups in terms of fuzzy subsets, Int. J. of Contemp. Math. Sciences. 4(30) (2009) 1465-1472.
- [16] S.K. Sardar and S.K. Majumder; A note on characterization of semiprime ideals of Γ-semigroups in terms of fuzzy subsets, Int. J. of Pure and App. Math., 56(3) (2009) 451-458.
- [17] S.K.Majumder, S.K.Sardar and B.Davvaz; A Study on Fuzzy Interior Ideals of  $\Gamma$ -Semigroups, Computer and Mathematics with Applications, 60(1) (2010) 90-94.
- [18] S.K. Sardar, Pavel Pal, S.K. Majumder and Rajlaxmi Mukherjee; On fuzzy ideals of po-Γ-semigroups, Int. Elec. Jour. of Pure and Applied Mathematics(To appear).
- [19] M.K. Sen; On Γ-semigroup, Algebra and its application (New Delhi, 1981), 301-308, Lecture notes in Pure and Appl. Math., Dekker Publication, New York, 91(1984).
- [20] M.K. Sen and N.K. Saha; On Γ-semigroup I, Bull. Cal. Math. Soc., 78 (1986) 180-186.
- [21] M.K. Sen and A. Seth; On po-Γ-semigroups, Bull. Calcutta Math. Soc., 85 (1993) 445-450.
- [22] A. Seth; Γ-group congruences on regular Γ-semigroups, Internat. J. Math. Math. Sci., 15 (1992) 103-106.
- [23] M. Siripitukdet, A. Iampan; On the least(ordered) semilattice congruence in ordered Γ-semigroups, Thai J. Math., 4 (2) (2006) 403-415.
- [24] L.A. Zadeh; Fuzzy sets, Information and Control, 8 (1965) 338-353.
- [25] L.A. Zadeh, Similarity relations and fuzzy ordering, Information Sci, 3 (1971) 177-200.

162